| Efficiency vs Dxy |

.05
<
S
@045
>

D.04

D
@035

5 o
003 i

0,025} +trrvbornh
0.02f oot
T e
O] S R S
T

RN RNEEE R

...................................................

...................................................

Of

Ratio

0.8

0.6

e

| Efficiency vs Dz |

_2BT20-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_mkFit_TT_base_noSel
—e— DQM_mkFit_TT_base_8iter_noSel
—— DQM_mkFit_TT_retrainOIldFiles_v2_8iter2_noSel

.05
©

$045
co 04
ans

0.025
0.02
0.015

0.03F |t

...........................

0.01F+{HH{}-

0.005;— --------- %tmgﬂﬁ ...........
o 0_"I
% 1.4:— """""" - b
o L2fee .......................
1 20—
55620 20

30
TP dz (cm)




	Contents
	Page 1


